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Lesson 6
Heredity as fundamental feature of living beings. Patterns of inheritance.
Give a concept to terms
Gene___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Genotype_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Phenotype______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Allele__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Allelic Genes__________________________________________________________________________ __________________________________________________________________________________________________________________________________________________________________________
Non-Allelic Genes______________________________________________________________________ _________________________________________________________________________________________________________________________________________________________________________
Hybrid_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Pure Line_____________________________________________________________________________ __________________________________________________________________________________________________________________________________________________________________________
Factorial Hypothesis____________________________________________________________________ _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Hypothesis of Gamete Purity_____________________________________________________________ _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Homozygote __________________________________________________________________________ __________________________________________________________________________________________________________________________________________________________________________
Heterozygote____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Monohybrid cross______________________________________________________________________ __________________________________________________________________________________________________________________________________________________________________________
Dihybrid cross_________________________________________________________________________ __________________________________________________________________________________________________________________________________________________________________________
List the types of crossing 
1. ________________________________________________________________
2. ________________________________________________________________
3. ________________________________________________________________
4. ________________________________________________________________
5. ________________________________________________________________
6. ________________________________________________________________
7. ________________________________________________________________
Formulate and offer a cytological justification for 1 and 2 of Mendel's law
	1 Law
	2 Law

	
	


What is the analysis crossing used for? _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
List the types of interaction of allelic genes
1.___________________________________________________________________________________2.___________________________________________________________________________________3.___________________________________________________________________________________4.___________________________________________________________________________________5.___________________________________________________________________________________6.___________________________________________________________________________________7.___________________________________________________________________________________
Solve  tasks
· 1. Brown eyes are the dominant trait, while blue eyes are recessive in humans. One spouse is brown-eyed heterozygous, and the other is blue-eyed. What kind of offspring can be expected from this marriage?
















· 2. A human right-is dominant over left-handedness. Both spouses are right-handed heterozygotes. Can this marriage be expected to produce a left-handed child?












· 3. Polydactyly (six-fingered) is a dominant feature in humans, and the normal structure of the hands (five-fingered) is a recessive feature. From the marriage of a heterozygous six-fingered man with a woman who has a normal structure of the hands, two children were born: a five-fingered and six-fingered, What is the genotype of these children?












· 4. The large size of the nose is a dominant trait in humans. A small nose is a recessive trait. A normal nose of medium size appears in heterozygotes. One spouse has a large nose, while the other has a medium - sized one. Determine the probability that their children will have: a) a small nose; b) a medium-sized nose; C) a large nose.












· 5. Curly hair is a dominant feature in humans , while straight (smooth) hair is a recessive feature. Heterozygotes have wavy hair. What type of hair can children have, and how likely is it if both parents have wavy hair?












· 6. A Mother with blood group II has a child with blood group I. Set the possible blood types of the father.













· 7. the mother has blood type I, and the father has blood type III. Can children inherit their parents ' blood groups?












· [bookmark: _GoBack]8. A woman with blood group II has a child with group I. Determine the possible genotype of the father. Can a man with blood type IV be the father of a child?

